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! Electromainetics 0903351 ‘/7/2017
Q.1 (5 Points) l:

| Find the emf voltage generated at the terminals of a 50 turns square coil
of area 1m’> centered at the origin in x-y plane if the magnetic flux
density is given by:
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In free space at 6GHz the direction of propagation is in (0.6ax -0.8ay) if X o
the power density is 100mW/m? and the electric field is in the +z

direction, Find E and H. X
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Q.3 (6 Points) o =@~ T Z3xu08

A plane wave at 6GHz is incident at angle of 45 from normal from air into a
dlelectnc with relative permittivity of 4. If the “hcident electric field amplitude
is 10 V/m in +y direction. Find the reflected wave and transmitted wave(both

E and H). : - X
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Given the following standing wave, find x and the characteristic impedance for bt >
the second media if the first media is free space. e }
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Q.5 (8 Points)
Use series stub matching to match a load of 200-j70 lf the T.L impedance is

1002 (solve using S.C stub and repeat for O.C f)_))
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